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WRITING TASK'1

You should spend about 20 minutes on this task.

The table below gives information about salaries of secondary/high school teachers in five

countries in 2009.

Write a report for a university, lecturer describing the information shown below.

Summarise the information by selecting and reporting the main features and make

comparisons where relevant.

You should write at least 150 words.

Countries Starting After 15 years Maximum r::::::?nr::lc;?y
Australia 28,000 48,000 48,000 9
Denmark 45,000 54,000 54,000 8
Luxembourg 80,000 119,000 132,000 30
Japan 34,000 65,000 86,000 37
Korea 30,000 48,000 62,000 34

WRITING TASK 2

You should spend about 40 minutes on this task.

Write about the following topic.

In some countries today, people are having their first child when they are older. What are the

reasons for this? Do the advantages of this development outweigh the disadvantages?

Give reasons for your answer and include any relevant examples from your own knowledge or

experience.

You should write at least 250 words.
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SAMPLE WRITING TASK 1

The figures illustrate the number of male and female students who attended four different
evening courses at an adult education institution in 2009, and proportions of the attendances
based on age.

It is clear that there were more women than men in the drama, painting and languages classes,
while in sculpture class men participants outnumbered the women. It can also be seen that the
majority of the students were the senior people (aged 50 years and above), while the lowest
was those whose aged below 20 years. It is noticed that in the language class, the number of
female students had reached 40 people, which was twice as the population of the males. In the
painting and drama class, populations of men’s students were accounted for around 25 and 10
people, which were lower than the women'’s figure which stood at 30 and 20 people. As for the
sculpture class, the number of men participants reached 10 people, while the women'’s figure
was halved of the men'’s.

Based on the age group, it is obvious that the highest proportion of the participants were the
senior age people, accounted for approximately 42%. It was then followed by the figures of
two middle age group (40-49 years and 30-39 years old) which stood at 26% and 16%. As for
those who were between 20 and 29 years and below 20 years, their proportions were around
11% and 5% each respectively.

SAMPLE WRITING TASK 2

In recent years, gay marriage has caused public controversy around the world. Although this
trend is not gained by a number of people, the returns are highly justifiable.

On the one hand, it is clear that an acceptance of gay marriage will benefit not only those who
belong to this kind of gender but also the whole society. First, by being applauded by the
community, it is clear that gays will have more opportunities to make friends and seek a
suitable marriage partner. In this way, they definitely gain a perfect marriage that leads to a
happy life. Second, If gays can live with their true sexes and be respected by the society, they
will study and work creatively and productively that benefits themselves and the society,
especially in economic areas.

On the other hand, there are several reasons why the government should not ban gay
marriage. First, it can deny that the third-gender-people are not guilty since they can not be
chosen their gender since they were birth. they, therefore, have to have their human rights,
including the right to choose their partner to get married. second, if gay marriage is illegal and
gays are stigmatized, they will feel a sense of social isolation that may lead to the social
problem or even crime. for example, in a number of nations where gay marriage is banned and
the third-gender-people are considered as a kind of guilty, they will find it difficult to seek a job
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that allows them to cover their basic needs, they, therefore, have no choice but committing
crime to survive.
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